TOPY 5 X 3FEHE) Fg;—4

By Bft K% BF R (124 %) VS GEAl %X
b A N . S, — 57 A »

NO, 1 1 8H29H (H) L5 9 VR 9:00 ARBE =7 BEw I R—A X

2 9:00 BT =7 SEMR—A X
NO, 2 9gNE @D | ReZIL_(T8A

3 11:30 By S R—( 2 BIAT A N—R R LR

4 . 9:30 B AT ANR—RR—) P KREE =T
NO, 3 98208 (B) =

5 #a i’”_w ﬁa 12:00 B S R—( 2 RIBFE =7

6 9:00 B AT N—R R T =7
NO, 4 98258 (1) | SERT_ (R

7 11:30 KREES =T EAMA—1X

Ry 5 R—{ B _ e e

NO, 5 8 10)% 16 H (:t) ﬁﬁjTE{:lA75'7\/|‘ 9:00 EEHM/T\ 4’7\ tﬁb /77_1—\ 4’7\

9 e 9:00 BEMA—(R | AT R
NO, 6 108178 (5) | BEEE_ TR

10 11:30 AREEV =T BBmE =7

Second Stage
By =Ny Kki5 BeF S (124 %) VS G2EAl #%)

1 R 9:00 KIREES =T EEMR—A X
NO, 7 108238 () | 4ARERA=L

12 12:00 By S R— AR KIREES =

13 i 9:00 T =7 SEMR—A Z
NO, 8 108308 (1) -

14 #a iﬁw ﬁa 12:00 KIREES =T BT =7

15 B 9:00 BATAANZR—LEE | IR
NO, 9 108318 (B) |Makeinekt

16 : A 12:00 AT AN—RR—/ LR [RI&FE =7

17 — 9:00 EEMR—A X R I R—( 2
NO, 10 ARG | LARERCT

18 ’ 12:00 AIRBEY =T BEAT A RN—RR—)VF R

. 9:00 EEMA— X AFAR—RR— 5

o 19 SR 3’%%%%%%\/%% EMR— BIX T N—RR— L

20 g 12:00 ey HR—A X RIEFE =T

98 23H (#1)

98258 (1)

10828 (1)

Bigl=] 10838 (H)

1089H ()

108188

108178 (B)

RS b —F A S RIRRER
cT7—ANS UV RERAY RTTY R THRERV ) —TH TV, IBiiZRD2 (FF—L8HE)




